1Ay,

e

JERI FK@

Here, & =(av ¥ - 048

K

The uncent un fom the bo‘*’““"%

mQX\Muw\ ushen ﬁJ’\L ex+er0000 Mt(gﬁﬂ_@\

Che  dreadt s zeym
R=0 T
T
s \\
A'Y)O'x = E )
\ ¥ \‘O\L"
:BDA’
\ * v
 E——
) = RAY
% o
RA & =&
)
7O
R:_E%:-"‘V @‘5
ey,
= |35
'~ Terminad voltage
v=1R =05 xi11 s
= £'By
33 ¥ REZR TRy TR, =65
W) 1= & -2 -aq -
7 W 6
v&‘ ,—,EP\% =ARY = Yyv -
V,\ ol jR?}: ‘QXSX 6V




/.; e —————
° = —_—
}j)_,_,tf)—p—\'——*—é—-ké_L*rJ_ —
TR R R
| s o4l ¢
= XA H 5
N
| = 1Y
I
Ry = ﬂ._ﬂ_
) eap 7 =8 =23 . jop
R\ 2 .
js ;é_ = 20 s 54
Ry
:j:-; = é = ’?D - L{OA
> Rj I R
8 = b '\'2% ’tI_L_‘
= \0"\'5’)‘“1‘
= 194 '
J@ R, = (00
t\', = A4 _ B
- &<, - '-30x )9 L'ﬁ///
~ o = R’\"R‘
-~ | R (ta— Y - ., o : |
~ | > N#-109 . — ,_
~ | M.
T t,> 1000 tt | ~ |
~__| _




, Sl L=\5Mm

J\J: 6 ;k\O':( rx)’\

o | R?- S L ' : \/
— 4 o \
| P=RA _ sxéxw0 —
e C 15 T
— = A Xx10.47) T
- &‘:f) R,= &)L | . T
—— t, > ISR, T
o Raz a3

= t;\‘: 109 ¢ =
~ A = Ra-R

— R\@&“tl)

= - I 0-¢

= U T oawvxaxeg

N ,z.\L\Ooa)\q‘Q

il = o\ooz)qq“c'f

ﬁ_ﬁ 5‘&) V= %0V

i 1,= 329

I T,z 20y

| X= |40 K\O"\ac‘\

. Reqistance Qb 100M  bomyenature,

-+ Bp =L =230 - a2 1435

1 L, R ) |

,,j_ Noatd v = P\l"‘i\

i Ay Cty—py)

m

-t 2 RT™  ERTHE-TTEYS

) S TL 85X 170 X 10



= goRtaud - pyousy
t1.895 x| ¥
| tpC 840.35 + 23

- &6%.35%¢
| _cox bow:o ARD Y R

?or oop fiepp

1.3, 7
| e(3-1)-10 (: ul)-sz =0 A\ E”W LT
\0v
Eor oop ODcFopy | oy ——

E’Iw’ Ti0 é\» T3) 410 CI 1) = 10

‘Qj.‘5“-.,?—r-541 =0 @

bT, 104,*401,\“0 mncal U8
W0y, &t 2549#)0}\3 !0——~.
L Eeﬁvm(? QQNOLUOG 9 , ® Q‘ld@
J,. 54 4
I
1,=4 ¢
ST
A; -2 0




‘Xﬁn : \,\ _ﬁ- I —
I“.«\‘""“. R | - ) "-‘—""-i" CemmeTTTT ’ \
1 Fpp: Tz -28 \
] Tetad curveny -~ 10 4 -
B - 'V - Tt ! T
C&\0) = 9c ) b
| R= i
o L=vy= |a S .S
o .&:"00—( x'z\
S L
- e ide & 1S Sl
o 295 .
R = VRS XS T e s
N 60“5‘
oy C,onnect:Oﬂ O mode by thick gu;,ppw &'tr;p\
l o Ma My mse U\Qq req ,dm(\((s ofl
Coanection LOnere Ore nog Qccoypnt bor B
the obore  Formad o - ,
' I
] 19 vohen X end Y ore intexchange 4
. v o
L R=Y = a5 —
| Lo A =8¢ —
d= ‘00'-& X R —
& R
L6 = .____.'Of’"& Xilas O _
7 S _—
= 816 A = 1250 - ta=5( —
AN /\
= Loﬁ_“ =60:5 O Pmm end @
.. i L




Q=—C0C
/ jit “Qf\ U\&Qodvaaomw | -Q_ﬂdcﬂ\ 0y, ’
;_,mtw’mnaod Ot the bodance  potnt g
I (,ond,ttlm\_! OF €. bMQ()cecL bnldom QYe &ﬁﬂ ‘
_,@Lﬁmﬁﬂmi and 4o er\ onwvaﬂomur
| wlaot thow q d
Ny  (uayent .
Sl fz 20- g2 2y
: ——120v ‘ .
) DB 5 I
- | T BV 06& R=15- 5.5
) Eap r_vavA,—%ﬁ.NW\f
e .
B _L - ,‘_’L~« = f
R 1551065 |
The. term el voltoo e’ 0F the Eodew bOLt’(u}
dwing  thoarging
J ¢ d
= E’TT( ;2 -t:'.XO‘_S
=~ 5y IR €
The texier vesstsr Anta  the cugrent Am&m
brow)Ene extermod Sounces N 680 Tt4 Abfence.
ol Carent. LAV be dong e rouwly mﬁh
| -l
D) B, =1 AS v, |, 2 B5UM
— | - 63 om
— | B,- 2 g = 63 KIRD. = 325y
‘\ - Ll ' 55
—]
A\




:,é L= 6"’) \
L A= ax15° nA
= e‘ "6 Xlo '9C \ \\
> 1=34
. ‘\
L Dt gpeed , v, = T \

N h T
b z 5 . o™
_ 16 10" % aox 10 kA S @@

L My
= 16X &% X &%\ D
= )l %10 Ymg! i
ReSuired £ m g, |
t= = 3 ¢ = hBxi0
il Y3 f<) x 0
‘:L = 1.5%h
| _ .
&"‘}) Quctace chorge dendtiy =10 Tem

| \ G o
| |
| ‘Rodfut of Eorthy, R= 6:33 7 (o°m

Qurrent ., 3 = 12004

[

‘FQW\ chQwge | q &

Surface o KXo~

l 4Rl o | s

= AX 314 x (€~5~"{x10‘)2x rOi?r/

%du‘.r&i ’fj“\‘(,/ t=9

* $0%.65 x \5‘3Q

c 50965 K> _ " —
3 peut 2&('55 . /
r —




Qe—0
—’/’ — —_— . o
fﬁ;_g)f ‘F. = S{Y
/,7_ ¥ = 00160
/ﬂ Re @ . 5.-C0
— | ma-=¢
/. —
| I1=n& = ¢xz 12 g
R4 Z51t6x0.015 859
P
I
=S )\C_f Q
[ Texminod wttage
v=l'p = 14x 2.5 = 19y
}3) % =1 Qv
¥ = ARO0SL
T = B = I'T?T 000598
‘ ¥ 220
Thh e condony ¢yt connot ddve che. seacting
M Otoy OF o m@ becorde chatrequires o o
curvent. of obout 1004 for o fed Lecdnd.
T ST S Al ey S
| Peg=rtmaet o
5"6) Moys = Volume K dendien
= ALd |
- Pe g4 = Pdg?
r TR .
| A¢ the £00 WOire Qre of efua] LeNndekh and  havy,
Ehe same reycece. el y mMagd Omﬂo will be
\\\—-; . - ; A
— | My o Peudey = 102 x4 = 21582
— 00 e Pa. d o 263 5 10° x 301
\_ — 9\’9&
\T\



)

Date
e Paga
= 6

N

Le,,m_p_e‘(bo((fﬁ LA ((;N\C_ he oo d” han A

Ze13) B
/

3 i 'l 2 i ¢ ¢ o
+ : : : 1 5 ——
039 A0 4O w0 £y 73 Q0 0- sep e D s
o< < T LA ™1

LIV EY

<Y Tov M O TE yo

1A S S N O U S R O OO WA

—_—

Gee \y groph &wmmf Q&trmj)ﬁt 2500, thhoye fore, |
molnc?oumgs m%bor e§ o ohmyj ¢ read toy— Hr 9tven

¥anql of \ltaqe @and Cotvent - M o duurmnt

cr.cmb‘m ey O Oltﬁiﬁ Wt@mpmwne, ,ngng

bat tro redistonce OF\Mng.mqfY\ doed Not chanae .

1

S8

|

® Oaly curcent B waqttant becage otp -7 |

?"@vm 0 be stea %_ GU\Q\f Yuontities o cuvent
d@msub\p releceic S Resa ancl dm@t&peqd -

P VQY(\JI %M&QX&P L\SIHQ areo  of oy _SQ(_GQ(] g .

(b)) No, Ghw't (oW %V\_ot QN o |

o p U coble

For oul coqcy eSng QMMMDE’(M
Ohmie  olement d :

oo Vo comn diode,
2om feodyctar  dfode,

Oy b hr

b ] e,(m:t,m 93:‘0& Aoouéw\-u

') The, rnoxt (Vised  CvCenpt C‘szat LU he dmum/

FYom gonw%m ?u&phf ra! Q"rwu I?L




Date
Page

Tonox =&
r

L

(&) TEehe  enternod  reyistnce N0 very Covoe

_then the.(awent wil) @xeed the safetf eimi

W oo the Grodde T Short = ¢frealted

Qccidentodly -
;5-13) () Mvootes
(» 9 fpwesr C
(9 _® nearty endepesgdent of
d 162 ' :
ZR}D (@ Foy onoximann  ZFfectit, m}sbdr\q, oUl' theo N
refiitor Mt be  (panected M temey
Re=nn
Fox (;'[!fq‘lmm‘v\‘ e Cectlye vesistance ol Eha N Ao
cnutte be  Corvected Tvy powodief - It i 8'? e by
D o s *—L'—'—‘Qteﬁv‘Lng
L R, PR K K A
L .

ominlmun) errect  Teaistance

Re B

A

(R.Q*:IC QL €l 4W019§(’f‘ﬂuvxq

Re '= NR > N

Ro R/n

~— ty_ Hewme RIS,

~— | 58 = 2 S




Date
Paq Q S
—

o D when pariied combodseq s wnq%
— Series | Lyl 3.0 MWJ(OK —
. e AR i,

o \ R\’ka‘)\ . "(A\T‘
- = X2 +5= 2475 l\@
T T = - X0 W T~
- =1 o AM~]

L O :
— 1) wdher) parar o oomblﬂqhon Oﬁ &JLOV\d\
- ruwer 1S canected Dot
— R= Ra®: 4, - 2xs o,

g R}"(R& R‘\'Z) —
L RSL =1 o

5 20 p—IMN— |
I T 1
: ; ,
,;_ ( Y ;‘)‘\M\ Ehe  thvee mltw
exes |
I LT > |
T R= R3R,TR, B VY B v v
1 JMM&)Q. B —
s o - —]

1Y) Lhen gl A reiigtancey ore (s
L - | W

= T
H R, R—"ftﬁ J'— £ Jc._L 6, et

i 4% —




(c)

\5’:‘:\/\ Lo 2.0

I h 'r—"\M’T

—y -

N——

2 )L%\v/ 20 ==

Reuwdtancoe R, 1 =1+ f1~

7 —R o-(
= 2

1 =

, L)
R=Y ~ ‘1‘ =

Resistance OF e totod Neted oK

= yxyY = 0
)

=5

([ _The network s o Ceed mabotion oF

8 ¥epnstd)y, edah o nuistince R

EQ utvodent €edsennce "R

3'2))
7

Let e eRWvadent  reaiseamce of edng iNfinite

NLEWIOTK R X * Thid Netcddrk cOnnsty oF infintte

ANVtA pf three peAlesy (2, [0y © Theaddi’dbo’)

of 0ne MOre  8uen  unit o ﬂ% Lo\ NO¢ ercct

the t+tol & yexstance.

& | 5
H} f‘./\/‘ﬁ(““> P
Y |)1£
= | y
\_ A
| )
\-.

Bosisenneer beteen Hand




. = Sesiseiince_cQuilent Loparally -
e OMbineivn  of x gad (S —
. TR —
B Kx ) X+ T
- Renstance et »oe,ey\‘ Pard § T
~ = |+ D4y g
- KT —
- 2 R T
- X | | ]
- ——r
e THamud t be equay to the oneg‘%no& Fesi(tamce X \t
. v X = l-} _Z<__ |
X |
- X —3x-3=0 |
i X = 13Jx i
L AL ehe vadye 0Fverictance  eannot be Nega i 1
— X= | +Ja = 23339 !
) Coceent , X = - eme &
~ - Ot ves'ittdinee - X1¥ 23z 05
__!’_ ' P
3 = 34134 !
L B RQYE,, =1:02 !/XL
4 L‘ '64’:’)% |
v
SIS \Q 'afz "’//g
4 Lo = 82 30m I
I —
1 El - 1043 " _E—— = &Q‘Z) -
%\ 0; 10O 2 6"1‘5 .




-
® Higw vesistance oF 600N Protecey Ehe.

qalvanomentes €0y DM:UD’\ (Or MWy feO0m U/\Q,

504%/](0 nomf ba cf,euqu“ﬂd u{magn’r chmng
B

Q NO boU 0w e pom‘rﬁ N0t affected by ru:smm(e

becou»m N0 curent Flow( throug h qu cfqnce
poef\’c .

@) Mes , the bodance. pornt 7y obbected by <ine,

Internod resitanc, o@Pam of e dver ceop -

The tnternad  Seailtance  Qfteces. She cuprent

thouqh CThe potentiometes toire,$0 Canged

N, Jgotoxtuw. ond_hence ot fecty

bolavice poent -

€ No tho orcovement. W NIt 0¥k . TF 5, 5t

0 ot A tJ/\Q(\b‘g\L el 0f edra dDTves Ce gt OF the

po tentiometer, lore L be no baol ance DO(nt

@n U«\Lm@rg a0

©) The cSreuit ox it B woudd be Uy ERble

becos e the bodance DOS’M- LOHL b vy

ChoLe €0 tihg 2N QOLnd,tP\LD%nemwgﬂ(fw
T e 0300 -ment ufllbevuv Lo ¢ - Tho

ot rrod/iied by out€he o lottab

OO B Ql"\qu w«téluw_wﬂo AR 30 Ehat

mtexmod c’/r% Qcro (. ABYY only 813““(15/ Q roife;
\\awt&‘e Ern(‘ to-beo mfu}éc-uﬂedd (




——— #:ﬂf"—x

¢, = 5A B own )
L, = 645am >

& T

fot G and €, be the potentiod @

potentid metes Lkl

. 2 Cai Q :
and X peype ctively ond T be che ML’)\

—
Then & -Ix . x
"E R R
ggL: h_‘ ’ ﬁ_:&_ —
?4 ju P‘ I' —_
K o= T, R

> 685 x10 =358

(o] t
Lbehore itae bodance pofnt. it nieav

YOLRAtI o) dwcug O onts Rorx: Qre Qregter

thon €y potem\ﬁw) dzrm‘) QX044 e}% DO ten e /omadl

(JO@(T‘Q,G_B- We_ QhOMQL vordu ce. Cworent oy ‘t,l/\e _

_outdde chrrait Cajtoble by putting o
texies Tealstor. ¢

.
3'99} T, =963um -
Q;\: 6q~.guy“ | o it

J R = Qe85 O » _/L
The formula Focthe fntenof eqresitonce

ofa. cell by peeatiometes method 3 -





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

